RESOLUTION OF THE TOHONO O'ODHAM LEGISLATIVE COUNCIL

(Supporting the Casa Grande Ruins National Monument Boundary Adjustment Bill (H.R. 1019) Introduced by Arizona District 1 Congressman Rick Renzi)

RESOLUTION NO. 05-496

1	WHEREAS,	the Tohono O'odham and their ancestors, the Hohokam have inhabited Southern
2		Arizona since time immemorial; and
3	WHEREAS,	the Tohono O'odham Nation recognizes the need to protect, preserve, and manage
4		cultural resources on its traditional-use lands; and
5	WHEREAS,	the Tohono O'odham Nation recognizes that the Casa Grande Ruins Reservation was
6		set aside on March 2, 1889, proclaimed as the United States first archaeological
7		preserve on June 22, 1892, and was redesignated as the Casa Grande Ruins National
8		Monument on August 3, 1918; and
9	WHEREAS,	the Tohono O'odham Nation recognizes that the Casa Grande Ruins National
10		$Monument protects and preserves one of the finest architectural examples of the 13^{th}$
11		Century Hohokam culture in the Southwest; that the Casa Grande National
12		Monument represents only part of what was a town that may have covered 2 square
13		miles; and that recent surveys and research have determined the Casa Grande
14		National Monument archaeological site extends outside the existing boundary; and
15	WHEREAS,	the TohonoO'odhamNationrecognizesthatdevelopment isencroachingontheCasa
16		Grande National Monument and adjacent lands; and
17	WHEREAS,	the Tohono O'odham Nation supports H.R. 1019, introduced into the United States
18		House of Representatives by Arizona 1st District Congressman Rick Renzi that
19		modifies the boundary of the Casa Grande National Monument to:
20		1. protect newly discovered archaeological sites associated with the existing
21		National Monument,
22		${\bf 2.} \textbf{expand and extend our knowledge and understanding of the Hohokam culture,} \\$
23		and
24		3. provide greater opportunities to understand and appreciate the contributions
25		of the Hohokam culture to the region; and
26	WHEREAS,	the Tohono O'odham Nation understands that H.R. 1019 provides that the boundary
27		of the Casa Grande Ruins National Monument will be modified by:

1

2

3

4

5

6

8

Q

10

11

12

13

14

15

16

17

18

19

20 21

22

23

24 25

26

Evelyn B. Juan Manuel, Legislative Chairwoman

	RESOLUTION NO. <u>05-496</u>							
	(Supporting the Casa Grande Ruins National Monument Boundary Adjustment Bill (H.R. 1019 Introduced by Arizona District 1 Congressman Rick Renzi) Page 3 of 3							
1	ATTEST:							
2								
3								
4	1 xun							
5	Lucille Lopez, Acting Legislative Secretary							
6								
7	day of System, 2005.							
8								
9	Said Resolution was submitted for approval to the office of the Chairwoman of the Tohono							
10	O'Odham Nation on the le day of Sestember, 2005 at 4:42 o'clock							
11	.M., pursuant to the provisions of Section 5 of Article VII of the Constitution and will become							
12	effective upon her approval or upon her failure to either approve or disapprove it within 48 hours							
13	of submittal.							
14								
15	TOHONO O'ODHAMAEGISLATIVE COUNCIL							
16								
17								
18	1/2/m // /m							
19	Evelyn B. Juan Manuel, Legislative Chairwoman							
20								
21								
22								
23	[] APPROVED on the 20 hday of September, 2005 [] DISAPPROVED at 1/58 o'clock, 1.M.							
24								
25	[] DISAPPROVED at ///58 o'clock, N.M.							
26								
27	$\mathcal{O}(\cdot,\cdot)$							
28	Viniau fran Saunders							
29								
30	VIVIAN JUAN-SAUNDERS, CHAIRWOMAN							
31	TOHONO O'ODHAM NATION							
32								
33								
34	26th							
35	Returned to the Legislative Secretary on the Hay of							
36	Internalis 12:25 P							
37	September, 2005, at 12:30 o'clock, P.M.							
38								
39	V 100 ' 61'							
40								
41	Lucille Lopez, Acting Legislative Secretary							
42 43								
44								
45								
	•							

ACTION: SUPPORTING THE CASA GRANDE RUINS NATIONAL MONUMENT BOUNDARY ADJUSTMENT BILL (H.R.

1019) INTRODUCED BY ARIZONA DISTRICT 1 CONGRESSMAN RICK RENZI

MOVED: COUNCILWOMAN FRANCES CONDE

SECOND: COUNCILMAN TIMOTHY JOAQUIN

DATE:

SEPTEMBER 14, 2005

DISTRICT	LEGISLATIVE REPRESENTATIVES	# OF VOTES	FOR	AGAINST	NOT VOTING	ABSENT
BABOQUIVARI	1. FRANCES MIGUEL	155.40	x			
310.8	2. FRANCES G. ANTONE (Lucilda J. Valenzuela (Norris))	155.40	X			
CHUKUT KUK	1. ETHEL GARCIA	129.35	x			
258.7	() 2. VERLON M. JOSE (David Garcia)	129.35	Х			
GU ACHI	1. TIMOTHY L. JOAQUIN (Jonas Robles)	110.80	X		"	
221.6	2. CYNTHIA E. MANUEL (Louis L. Johnson)	110.80	Х			
GU VO	1. RAYMOND VICTOR	96.55	X			
193.1	2. MICHAEL FLORES** (Grace Manuel)	96.55	X			
HICKIWAN	1. DELMA GARCIA (Mary E. Sam)	83.70	Х			
167.4	(Mary E. Sam) 2. SANDRA ORTEGA ()	83.70	Х			,
PISINEMO	1. BARBARA SALVICIO	85.90	X			
171.8	2. GERALD FAYUANT ()	85.90	Х			
SAN LUCY	1. JOHN W. LAWSON, SR.	84.50	x			X
169.0	2. GLORIA RAMIREZ	84.50	X			
SAN XAVIER	1. FELICIA NUÑEZ	96.90	X			
193.8	2. OLIVIA VILLEGAS-LISTON	96.90	Х			
SCHUK TOAK	1. FRANCES B. CONDE	73.45	Х			
146.9	2. PHYLLIS JUAN	73.45	X			
SELLS	1. DENNIS E. JOSE	210 50	x			
421.0	2. EVELYN B. JUAN-MANUEL	210.50	х			
SIF OIDAK	1. WAVALENE SAUNDERS	93.35	X			
186.7	(Isidro Lopez) 2. DARLENE ANDREW (Rita Martinez)	93.35	X	1		
	2,440.80	2,440.80	-0-	-0-	[01]	